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What is meant-by “global burden of disease 7 Explain the

challenges: for the future, pa'rticularly in .reiation_to aging’

populatlons AIDS | and -drug reSIStance of disease : “6,9 !
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Assume that ge‘op'le have'_pref'ereni:es over h_ealth- and they
demand - healthcare services oﬁl_y for " its 'éb'ility‘ to give the

ci.esired 'heal.‘th For’ thé prod'uéti-r;ﬁ of-"'an“"addfti-onal 'unit of

Vhealth ¢ units of - health cale services are requxred Denote ‘
‘ .hcalth by h and hea]r.h care services by 5 The pnce of the

: genenc crood c and that of health care- ss I
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(b) Show d:agrammatlcally what happens to the budset set
- when_ .an lndmdu_al.—begomes ill,’ with. no change in
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(4  Show the change in the budget set of the individual
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'Explaln in detall tha Cost Ef’fectweness Analvs1s used ‘

~in evaluatmu healthcare projects T s _"1.0 -
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~ freat a particular disease The probabllity of avoadlng 1

Consnder a srtuatlon where three druf’s are avallable to

' ~death changes’ as follows :

:.‘ (l) _Fo_r_ druo ] from 03 to {]4 and costs $5 per
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(m') For dmg -3¢ ﬁ'UiTl 03 to: 044 and’ costs $6 per 3

treatment.
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“In the course of' development few proeesses are as.

accumujatlon 4 EXp!am the mter—generataonal and intra-
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' 'lntake, in India and dlSCUSS the reasons for- thls
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Descrlbe some of‘ the puzzles in food and nutntloni =

part;culariy ‘with reﬂard to child nutrmon oy 9 :
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Explain briefly the causes of market failure in th'e"hgaLr'hj-%-

care sector. ' ; ' B 6

Diagrammatically derwe and show- the private and socml

nanmaI benef‘;ts of immunization. - What is the lmk "
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Analyze the effect of' a‘decline in the demand for fresh

' IT profess:onals under the framework of Cobweb model
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